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@lf anda+1,b,c+ 3 arein G.P, arithmetic mean of a, b, cis 8,

then the value of cube of geometric mean of g, b, c is: : (a7 Iv)
\W"‘J

D .., 2= a+C £’ (ax)(cd>)
- at+b+c _ g
=
. 2b+b _
= =R
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(qm)> 158,
= o

I6= o ¢ 6Y = (a+) (c+2)
I 314 ’

C= )6-a
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A parabola2 = 12xas a chord PQ with mid-point (4, 1) then equation of

PQ passes through: rr_ S [ hord M
o Givem vudl

® (s I
7\,|—6(X-\—X|): \f,t\'LX‘

(_B/;" (%,—10) DA SV N

- J- bw= 1-2v.
© 10,1/2)
' Y- 6x =22

® (1) —bmw-
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If coefficient of x*, x>, x° of (1 + x)™ are in A.P, then find maximum value of n.

_ Ll \; "Co = MDDy
) 28 n n n § e e—

L

Ozn(g - h(q“”nCe‘
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@ (k) - ! ‘*/ 2. =t / "*/S \% - /
If f(x) =3vx—2+V4 4 — x has maximum value a and minimum value g
then o® +B‘ Jer s (e 7)’?—

"/2,
L (w0 )
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In a group A there are 4 men and 5 women and in group B there are 5 men and 4
women, if 4J_)§ople are selected from each group find number of ways to select 4

[ I
men and 4 women. Q < :

A= T+ Qo) o




JEE MAIN 2024 = .-+ PAPER DISCUSSION
T~ (Barn du

lff %f@d =—thena is |+7>v"
|

T
) §
-
e
@ 3
D) m




JEE MAIN 2024 = -~ PAPER DISCUSSION

/2 .2
: sin“x
Find value of _—dx -
0 1+sinx cosx
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@ f(x)

'
Let f(x) = fo"é + sin(1 — e‘}it,f(ﬂ) = 0, then Li_l}(} 3 = ’)Z::)-

L0 %+ Snl1-€),

[ - ﬂ»&’K+ §m(\»ex>
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®._ = -2 -

Find area bounded y?> < 2xand y > 4x — 1. 22

) = Yu-),
(‘A‘:" 2 ?{ % s 1) a -

; / - —
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™)

Ifcos™Ix-sin"ly ma,x,y€ (-1,1).Ifa € [— g n] then the minimum value of

x% 4+ y% + 2xy sin ais:
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1x22+ 2x3%2 4. +100x(101)2 @I

Find the value of
12x2 + 22x3 +--- +1002x101
8 % - NY._, Y(Y+)) Cy42-1)
N
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A= [(1) i and X <1+ (dj (4) + (adj (A))? + +(adj (4))19) then the sum
of elements of X is: CL )+ C"’ B .2]-1—[; B :"]-r . ['0 —‘fﬂ

(A) ss A

@ s, (A4 [L‘\Z]['o 12) [ J
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G,

Let a=1+j+k b=2i+4j—5kand¢=xi+2j+3kx€R, If d is unit
vector in the direction of b + € such thata.d = 1, then (@ x b).¢ is equal to




JEE MAIN 2024 = .-+ PAPER DISCUSSION
@::) Xy € X2 £ X%

A relation defined as (x4, y1)R (X’ ¥2): X, < X, & y; < ¥, and given that
_[3) Risreflexive but notsymmetric ——

_(bY"Ris transitive (2,5)— > 6)

Then, e N

(A) (a)is true and (b) is false —

@gj e
(\B;} (b)Is false and (b) is true (0 §)—> (3,0)

(3,6) I SYymm(x
(C ‘J}Q{'h (a) and (b) are true %9 “7‘/—‘) 25, J

(D ) Both (a) and (b) are false
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E — - 2\ .
© B o0, 0= 2t e

V2—y1+cosx ’ , is continuous at x = 0, then a? equals to:
alog2log3; x=0
\ /-N-_./

,Z)*M« (Q‘ - ‘( ?J ) ‘ \E o \m‘T)L
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®

Let y = y(x) be the solution of differential equation
(x2 +4)%dy+ (2x3y +8xy —2)dx =0

If y(0) =0, then y(2) is equal to.
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G (6= N4
For A >/0 Let 0 be the angle between the vectors
d=10+2Aj—3kandb = 3i—j + 2k.
P

5 o= — P : |40 — —S
If the vector a + b and a — b are mutually perpendicular,
then the value of (14 cos8)? is equal to -

(=21).(Z-D) - - 0‘16036)'225'

Y.

R
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W =% P (LY=2/2

In a Tournament, a team plays 10 matches with probabilities of winning and
losing each match aespectively. Let x be the number of matches that the
team wins, and y be the number of matches that team loses. If the probability
P(]x — y| £ 2) is p, then 3%p equals Win | Less

8288

8381

8461

8911
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’waz& e lu»ﬂ*‘\)

3 -
Iffcosecsxdx = (o cotx cosecx (coseczx -+ —) + B loge tanil +C
) 2 2

where «, B € R and C is the constant of Integration, then the value of 8(a + 8)
R J e’ (e oI
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Cq —C
Centre of circle is (0, 0) & radius = \/—1—0, s its chord. \ﬁ J

Another chord of slope -1 has length 2 units. Find distance between this chord &
L

r

line.

N
_3

| |
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v 2
A circle (C;) centred at (0, 0) touches hyperbola :—2 - % =1 at vertex.
Another circle (C,) centred at focus of hyperbola touches circle C;. Area of C,

and C, are 367 and 4= respectively then find latus rectum of hyperbola.

Q Ya

*!“___

S
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T A S
dx (x+y+2)2

xX+y
2x +2y + A

and f(0) = 0. Then f(x) = tan™! (

) then find A.
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Two lines L, and L, are given and they intersect at point P.
it D e
' e e
A(8,7,-1) and B(5, 1, 17) are two points. Find minimum distance of point P from
the line joining A and B

= u

e P ey P (s, e, apeed)
—
A“ A-\»/A:v\ \/

A“g"r M‘—v’ % QM:—V
AN -
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A bulb rating 50 W - 200 V connected across 100 then what is the power consumed
in this case ?

Prated =50 1 In C*

Ueim, . gt
) Vvoked = 260V ekt = Vewt

Kbu.‘p

'|> kX
Kt ‘—( etk 1 Bedkegd
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A charge +Q is placed at center of the surface of cube

then find flux through the
cube. £ 4
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— Zom(s
A car running at 72 Km/h reduces its velocity to half in 4 seconds considering

uniform retardation, then find distance travel for this interval.
————————————————————————————

M Sl °§ 0’/'& — (ovut C_—ve.)

Coneeht = Pres = distance = -
——___—_E' R
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Consider the following statements:

Statement I: The number of emitted photoelectrons Increases with increase in

frequency of incident light. 74—

Statement II: Kinetic energy of emitted photoelectrons increases with increase in
frequency of incident light

Phodolumensk o waswstﬁg-

A Both the statements are correct

ket vt
B Both the statements are incorrect
€ Statement-1 is correct and Statement-2 is incorrect.

/Statementl is correct and Statement-1 is incorrect.
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A massless rod of length 14 meer has a point mass attached to one end while the

other end is hinged. The rod is released from the position shown. The speed of the
mass at the bottom most pointis (g = 10 m/s?)

A J/560m/s mj (2 T %}_?) = L vAv-*

2

B 280m/s o?ﬁk([-tj\_r >:\§',
i

\/ 280(1 +\%> m/se

280 (1 +%) m/s

2R
(’H (o
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Four symmetrical points P, Q, R and S lie on a horizontal circle of radius of 4 km.
What is the displacement when a car moves from P to S along the given circular
path.

/4\/§km M

4 km

8 km

471t km
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A block of mass 2 kg is placed on an inclined plane of inclination 45°. The block is at
rest. Theinimum coefficient of static friction is:

_
1/2
V3

1/V/3
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Correct match for phasors of voltage and current for given circuit elements is :
l
A X-PY->QZ-R

Inductive (P)
X - ’ Y = P' Z = R
[ 2SSy >< [
€ X-PY-RZ-Q Capacitive Q)

D X-5QY-RZ-P

Resistive ————(R)
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In a YDSE setup, slit width are d and 4d, find the ratio of maximum intensity to
minimum intensity

T « Slit width

=

Twnin J1 -VT
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Arrange the following in ascending order of wavelength.

Coamic ¥ X UV Vie TR. Miec Radro.

Gamma rays v __—___\b)\

X-ray

Infra-red ray

microwave
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Magnetic moment 0.5 A/m?, B = 8 mT, then work done for bringing the magnet most
stable to least stable position.

R
U= MB ( (3D - CenB, ) e D

] <— [, Cunstable
= O'%‘\%?&\(ﬂ} ( bap— (&a7) iy )

% Ry
7
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The angular moment of 4" orbit by Bohr's theory

L= my¥= @h

2/

LT
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Sum of Rotational and translational degrees of freedom of CHy ;s (( )

_{;‘Edﬂ\ D‘Oje:
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Two masses m; = 3 kg and m, = 2 kg separated by a distance if 3 kg is displaced
towards com by 2 units.

By what distance should mass m, be displaced towards COM so that COM remains
fixed.

2K B om = meL +mARL -

A AN

O- ®- 0O RUTLES
3¥\j Qm ™,

— & 3k~ A%

Qunits -
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The figure given below represents which logic gate ?

7
7
< O

“<
,,\X
A AND ®
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Consider the following statements:

Statement I: The contact angle between solid and liquid depends on the solid as
well as liquid. ’C’b

Statement II: The rise in capillary does not depend on the radius of tube@ @E‘

A Both the statements are correct

B Both the statements are incorrect

/tatement-l is correct and Statement-2 is incorrect.

D Statement-2 is correct and Statement-1 is incorrect.
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If magnetic field is perpendicular to the plane of rotation. Find potential difference

©

between points P and Q in the-given figure.

Bw#?
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Position of a particle performing SHM is given by x = 100 sin ((;)t + g). Find its initial

velocity if time-period is 1.4 sec.

1000
A m/s
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The time period of satellite depends on radius (R), universal gravitational constant
(G) and mass of Planet (m).

A 2nj§/

B 2n ’
R2

N O /
Gm

D /
o Gm
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A body of mass 9 kg is at a height of@(radius of earth) from the surface of the
earth. The weight if the body is I\

(A wpemys 1

REy

"8,
]
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Which of the followmg circuits would have the dlode m conductmg state ?
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Two conductor have sam@esistivity and radius of A is 2 mm and of B is 4

g/{‘_‘(ll,Q, -—% (;L«Q v

) M .,(YL)

mm. If Resistance of Bis 2 ohmfind R of A

S

¥
e




JEE MAIN 2024 = -+ PAPER DISCUSSION

One mole of an ideal monoatomic gas compressed adiabatically from volume 2 V to
V. If initially temperature of gas was T then the magnitude of work done in this

process is F\/Y‘—Csmf f ) -
- klovK - -1
A :‘_‘RT (21/2-1) T\[Y \ :‘CVM"’ - fL__‘

1=
_\ oo
. T V( T W - WKQT}‘\IB
3 2/3
~RT (2273 - 1) f 2 —
© ZRT(223-1)

\

= RT(D\2l3 |

3R
=
SR £
= \Q3—T-§_ (
= 3
3

D 2p7 (212 B S/
ZRT (2/2- 1) o
2 (2”‘ -1)
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CHEMISTRY




JEE MAIN 2024 = -+ PAPER DISCUSSION

ORGANIC CHEMISTRY
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'li

~ _dri=E)

e (A) Major product A is:

Major product

z
OH P
(a) (8) (©) (p)
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IUPAC name of Catechol is

(A 7 Benzene, 1,2-diol
(B ) Benzene-1,3-diol

(C ) Benzene-1,4-diol

(D ) 3-Hydroxyphenol
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What is the sum of number of ¢ and n bonds present ihex-4-yn-oic acid?

H
-

-4
H
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Major product of given compound

° 1) 03 -
6 2) H0/zn ' =y

0
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A((di(Hddﬂ

Correct statement of relation between A,B & C

/\/( Alc KOH ®

Fhm J, H03/OM=

C
(A B & C functional |somers>< /\\ K14, 0 @ /K @

Pyo ene |

('B_,) A is acidic dehydration product of B (DBH T PYG]"WI—Z'Ol

(_C ) Ais acidic dehydration product of C ® HZU 0H- [ °H

?Yormiﬂ

(D ) Both (B) and (C) correct
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Match the column:

Column-I (Molecules)

(A)
)
(C)
(D)

Glucose & Fructose

a-D-Glucose & B-D-Glucose = (nww)

Glucose & Mannose

«:Ribose & a- Glucose
- ®

(P

q’imwg-zz)

PAPER DISCUSSION

Column-II (Relation)
(P) Anomers

(Q) Function isomers
(R) Epimers

(S) Homologues

L
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0
Il

Phthalémide% product “X”; Number of n-bonds in product “X”

©

L

) o
-0 "
G Qﬁc@ :
€—0 /

—_—>
J irNF@ —NHs

6
Phthalic '[\”.‘J Phthalamide ‘0/
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Which of the following is uses in adsorption chromatography
(A ) Silica gel

(_B ) Alumina

(C ) Benzene

(D / Both A& B
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CHEMISTRY
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INORGANIC CHEMISTRY
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Which of the following have pyramidal shape?

.o Ko
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The correct order of ionisation enthalpy for Li, Na, Cl, F is:

@// Na<Li<Cl<F

(B) Li<Na<CIl<F

© nac<Li<Fecl

(D) rF<cicli<Na
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Arrange the following in increasing order of their first ionisation enthalpy:
Al, Ga, In, TI, B

T
(A,i- TI<In<Ga< Al <B 1€

&

B) INn<AI<Ga<TI<B
(©) n<cacai<peT

(@) s<a<cacincT
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Find out the number of unpaired electrons in d-subshell for [Co(H,0)s]3*.
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Which statement is/are incorrect?

o-nitrophenol has_intermolecular hydrogen bonding.
(i) HF has intermolecular hydrogen bonding.

(iii) The hydrogen bonds have strong influence on the structure and
properties of the compounds.

(iv) The magnitude of H-bonding depends on the physical state of the
compound.

) (i), (i), Gii), (iv)
&) (i), (i)
) (i), (iv)
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MnO, + Salt (X) + conc. H,SO, —> Greenish yellow gas is produced salt X is:

(»/Af1 NaF
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We have a complex of Fe**ion having electronic
configuration according to crystal field theory is t, e °. If the
complex is [Fe(NH3)ﬁ(CN)),], then value of (X+Y) is ]

k{y =N =¢ BRse
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PHYSICAL CHEMISTRY
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Consider the following statements: K-E = LO = wo t*kz“{f ‘ﬁ

? Statement I: The number of emitted photoelectrons increases with increase in
frequency of incident light.

v

/( Statement |I: Kinetic energy of emitted photoelectrons increases with increase
in frequency of incident light.

(_A ) Statement | is true but statement Il is false

\,Q/Stctementl is false but statement Il is true

(C ) Both statement | and statement Il are true

(D,]: Both statement | and statement |l are false
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What is the angular momentum of 4" orbit?

(}R:; h/n

B 2h/n

(Cﬁ) 4h/n
@) sn/x
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One mole of an ideal monoatomic gas initially at temperature T is
compressed adiabatically from 2V to V, then the magnitude of work done in
_/\_/\/W\___

this process is: : JAAG | g 2
\ 2

gRT(Z%—l) B) ERT(zfs_l

2 2
§RT(23 )
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—?m(val) nCy (-1,

_Vl <VM_XI~ HE\ — N
F. f,

[

Q
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Which of the following statement is incorrect?

In homogeneous mixture composition is uniform /

Compounds are formed when atoms of different element combine
together in any ratio

Atoms of same element have identical atomic mass or%perties

In heterogeneous mixture composition is not unifcy
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Calculate heat for isothermal process if expansion occurs from 20 L to 60 L

Oc:gcnnst 5 atm external pressure. m

ﬁ (ong %M ]77\ eShuy ) IASNADV S 17/ )Mo cess

?}“/ fw—wow

¢ 4 K\/
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Arrange in increasing wavelength order: | fado wave /N

Gamma rays, X-Rays, U.V.Rays, IR Rays

MIU/\D wave

(Ajb/ommo rays < X-rays < UV rays < IR /\/MDM}WL " ‘mowz

w: -

B,f) Gamma rays < UV rays < X-rays < IR | iy, |)p

(C,.;’ X-rays < UV rays < IR < Gamma rays ¥, \/

L - ki

(D ) UVrays < IR < X-rays < Gamma rays
G\W\/\:\'
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For the graph between molar conductivity (A.,) VS yconc, the correct unit of
slope will be - e
P S /N b

(A S cm'/2 mol-/2 W e naed /\D ln& ouk H\L Utﬂikf V&? L
Ap> om o

(B ) Scm?32mol2

+ gl
S im mod i

g (m”

(D) scms/2mol-3/2

5
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For the reaction:A+B— C Gwoéf VMM'
Rate = K[A]/2[B]/2, where K = 4.6 x 102 sec™

Initial concentration of A and B are 1 M respectively. Find time required such
that concentration of A becomes 0.1 M.
-t ﬁ -l \AF

_M;H —‘WL e

A

ol

Ll
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How many orbitals have following set of quantum numbers n=4, m=0 ?

m: 0
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3 gm of acetic acid.is dissolved in 500 gm of water; depression in freezing
point observed ig X x\10-/ find out the value of X\ _/ - ) ( nearest integer).

Given: Ka of acetic acidajp\ds of water-is™1.86 K/molal
_L_ 0
3 — Y ( | 7 \)

O:O‘\ﬁ/)

L Afr,i(lu).l'géﬂw‘)
- \AWHQUL"HJ\ //\-owp-%yﬂ'\

146 1)







